H & 0l & AHS B Ml A

20258 = =0ilah LB S AIEH

S£A: SAIZEHID
M oA T AITHA

SRl AT JlgtEl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CAIEBI 14,267,404 19,178,542 4,911,138
= 219,000
[ 6,608,200
= 1,719,030
Al 3,521,174
H 2,200,000
FO/H T A 13,995,765 19,124,736 A5,128,971
[ 6,608,200
= 1,719,030
Al 3,468,535
H 2,200,000
CAINA D18t xS 13,602,528 18,177,206 A4,574,678
= 6,608,200
= 1,719,030
Al 3,075,298
H 2,200,000
XA ZAITHA FIHOH 3,000 4,500 21,500
201 er23| 3,000 4,500 21,500
01 At2teltl 3,000 4,500 1,500
OFEH TAIMY RN 3,000
SATHA 25t AFEAIA 22,430 22,700 2270
203 2=l 2,430 2,700 A270
03 A=A PR FA| 2,430 2,700 A270
O=JIES2AE 82 € =Hlgs A& 2,430
308 AHXIHMS0IA 20,000 20,000
13 S I2S0He 4 A AS A 20,000 20,000
O AN 235t AFEXIZ 20,000
CANYRARE =2g 3,000 4,320 21,320
201 er23 | 3,000 4,320 1,320
01 At2teltl 3,000 4,320 1,320
O ANYRARE 28 & H&+E 3,000
=& L2F TAIHAAE 783,330 0 783,330
[ 500,000
= 83,330
Al 200,000
201 Ler23| 2,100 0 2,100
= 1,800
== 300
01 AtR2t2|HI 2,100 0 2,100
O 22 TAIMNHA 2,100
[ 1,800
= 300




S£A: SAIZEHID
M oA T AITHA

Rl DAY JlgtEd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 781,230 0 781,230
= 498,200
== 83,030
Al 200,000
01 Al&HI 777,730 0 777,730
S LE TAITHUA 777,730
= 495,200
=S 82,530
Al 200,000
03 AlE220HHI 3,500 0 3,500
O3 L& TAITHHAY 3,500
= 3,000
=S 500
SHAUAA TAITHAH AL 5,511,800 0 5,511,800
= 4,467,200
& 744,600
Al 300,000
307 glztol & 300,000 0 300,000
02 2B YA HE X 100,000 0 100,000
OHTAA TAITHAAY 100,000
05 212t =S 200,000 0 200,000
OS XA TAITHAHALY 200,000
401 Al HIZ R OHHI 5,211,800 0 5,211,800
[ 4,467,200
= 744,600
01 Al&H| 5,211,800 0 5,211,800
OHTAA ZAITHAAY 5,211,800
= 4,467,200
=S 744,600
HFSNE TAITHAEAIS 470,000 1,399,500 929,500
201 er2 3| 10,000 7,000 3,000
01 AtR2t2|HI 5,000 5,000 0
OXF=ANIZE TAITHEALS 5,000
02 S3=gHl 5,000 2,000 3,000
OHFAANIE TAITHHALS 5,000
401 Al HIZL S 0HYI 460,000 1,392,500 A932,500
01 Al&HI 460,000 1,389,000 A929,000
OX=ANIZE SAITHAHALS 460,000
ddzZ XSs AY X2 (HFSexSsn S8t2 28,988 0 28,988
=3)
401 A& HIX R0 28,988 0 28,988
01 AlZH| 28,988 0 28,988




Y E=INE=L:[n"
B MK AT
Rl DAY JlgtEd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| omoneg3 g 28,968
WFES DAFUE T (HEAR) 2,700,000 2,750,000 50,000
= 500,000
3 2,200,000
401 Al&HIZ 2 TH] 2,700,000 2,750,000 A50,000
= 500,000
g 2,200,000
01 Al&H| 2,700,000 2,750,000 50,000
OXZN DAFHE ZHAL 2,700,000
= 500,000
i 2,200,000
SAMA HEZ 2 W 22 108,000 108,000 0
201 Lere ety 68,000 68,000
01 A= 22l 18,000 18,000
OZAIM HEZ 2 ¥ orEm2|e 18,000
2 222 50,000 50,000 0
OZAIMM HEB2 223 UF 50,000
401 Al&2HI L= Chb| 40,000 40,000
01 Al&H| 40,000 40,000
OZAIM HEB2 KX22 40,000
SAMMNBME 2 723,820 722,000 1,820
307 212+01 M 723,820 722,000 1,820
05 QI2telEta 723,820 722,000 1,820
OZAMMT AHE 2 723,820
@021y 408,792
2| 201,700
L N 33,059
@ L0IH 82,269
TATHA OSIEI0I X KIRMEl 29 55,000 50,000 5,000
= 20,000
A 3,000
307 212+01 M 55,000 50,000 5,000
= 20,000
Al 3,000
RIEE POV EES 55,000 50,000 5,000
OZAIMA OPHHOl ¥ NBHE 2 55,000
= 20,000
Al 3,000
HOIEFY AREls 29 3,000 9,600 6,600
201 Leie ) 1,000 3,600 £2,600
01 AR 22l 1,000 3,600 £2,600
OHDIERY| DREAS 2 1,000




A ZAIEHI D
T FON TATHY
SRl AT JlgtEl EER=E)
SA - ZE - BR(30) - HRA - B of v e HIDE2
301 EtE NS 2,000 6,000 24,000
11 dALEEIXIZE S 2,000 6,000 24,000
OH0IEgl 212gols 2 2,000
FHAXA HE(ZAN(E=SS MS0E2) 1,560 1,560
201 er2 3| 1,560 1,560
02 S3=gHl 1,560 1,560
0Os&ER= R S 1,560
FHAXA HE(ZAN(SSAS ME0HS) 492,800 1,126,000 633,200
[ 286,000
= 46,800
Al 160,000
307 @120l & 257,678 260,000 N2,322
[ 87,888
= 9,790
Al 160,000
02 2IZHBYAIHE X 97,678 100,000 N2,322
O=2AgHe AIY S 97,678
= 87,888
& 9,790
05 git?(& = 160,000 160,000 0
O XIAHE 2lAddl & 22| 160,000
401 Al HIZL 201 235,122 863,200 628,078
s 198,112
== 37,010
01 Al&H| 232,912 863,200 630,288
OS2atE ME0IE A 232,912
= 196,112
< 36,800
03 A& THYI 2,210 0 2,210
Oos2its ME0ls ZEAME 2,210
[ 2,000
= 210
FHAXA HE(ZAN(H=E MEOHS) 1,131,800 830,086 301,714
= 900,000
== 115,800
Al 116,000
201 223 2,280 2,800 AD20
= 2,100
= 180
01 At2teltl 2,280 2,800 A520
S8 MS0Ee 2-8AY 2,280
= 2,100




A ZAIEHI D
M N DAY
Rl DAY JlgtEd (Gt H2)
SA - ZE - BR(30) - HRA - B of v e HIDE2
< 180
307 21201 & 203,690 100,000 103,690
[ 77,700
= 9,990
Al 116,000
02 2B YA AR A 87,690 0 87,690
O=pHEHet A S 87,690
[ 77,700
= 9,990
05 2ItRIE = 116,000 100,000 16,000
O EXAHE 12HHl S 2| 116,000
401 Al HIZL 201 925,830 727,286 198,544
= 820,200
[ 105,630
01 AlZH| 923,460 724,486 198,974
O MSOE 2EAY 923,460
[ 818,100
= 105,360
03 Al 20HHI 2,370 2,800 2430
O4==d MS0tE gAY 2,370
= 2,100
S 270
FHAXA HE(ZAN(HE 22T MEDHS) 563,500 285,000 278,500
= 455,000
[ 58,500
Al 50,000
201 el 3,000 3,600 A600
s 2,100
== 900
01 At2teltl 3,000 3,000 0
OAE 2N+ MS0te Z8A 3,000
= 2,100
== 900
307 @120l & 70,000 40,000 30,000
[ 14,000
= 6,000
Al 50,000
02 2IZHBYAIHE A 20,000 0 20,000
O=F2AgHet AIE S 20,000
[ 14,000
= 6,000
05 2ItRIE = 50,000 40,000 10,000
O EXAHE IHHl S 2| 50,000




A ZAIEHI D
B EO|H AT
SRl DA D18t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 490,500 241,400 249,100
= 438,900
== 51,600
01 Al&H| 487,500 238,700 248,800
OAEAZXN T MSOE A 487,500
= 436,800
& 50,700
03 Al 20HHI 3,000 2,700 300
OAE I+ MSOE ZHAY 3,000
[ 2,100
= 900
QIS BHE T AITHAHAIS 130,000 6,201,000 26,071,000
307 elztol & 130,000 460,000 A.330,000
02 2IZHBHAIHE & 30,000 200,000 A170,000
OQIZEHE T AITHAALY 30,000
05 212t =S 100,000 260,000 160,000
OQISEHE T AITHAALY 100,000
@;&E NS3t At X (LZEHE SAIMY XIS3H At 485,500 0 485,500
&
401 Al HIZL 201 485,500 485,500
01 Al&H| 485,500 485,500
OHHZ XSSAY R (QUZBHE S AITH
o XS3 AHY) 485,500
235 Y E Y A 235,000 3,002,500 A2,767,500
307 el2to| & 235,000 500,000 A265,000
02 2B YAIHE A 50,000 200,000 150,000
oZ=ss UL TY HAAY 50,000
05 git?(& = 185,000 300,000 115,000
OE=S LHEFS HAA 185,000
S|UGSA BIETHAAIE (ZAIXIS) 150,000 343,000 193,000
& 150,000
401 Al HIZ S OHbI 150,000 343,000 193,000
s 150,000
01 Al&HI 150,000 343,000 193,000
OBIEIHIAI 150,000
= 150,000
eSS eSS 393,237 947,530 A554,293
oS3 =3 882 &4 & &4l 30,000 0 30,000
401 AlZHIZL SO 30,000 0 30,000
01 Al&H| 30,000 0 30,000
O3AHHIl, 22X S 30,000
Sahiel, 28 |2l 167,600 257,600 100,000




2A:

X XH -
o=

HO|E TAITHA
Belr EyEUEY EER=E)
RA - BB I(S) - MRAE - A HIDEZ
201 Let=dh] 54,600 54,600
01 AlR2teldl 21,600 21,600
OS3atiel, 2% =Al2el 21,600
2 s=s=34l 33,000 33,000 0
OSsatel, 2% = A2 33,000
206 M=H| 3,000 3,000
01 Mz bl 3,000 3,000
OSstHel, 2% =Al2 3,000
401 AIEHIZL 0] 100,000 200,000 100,000
01 Al&ZHI 100,000 200,000 100,000
OSztiel, & AE= R 100,000
AitsZ 243 MY 74,637 79,930 A5,293
201 er=23| 17,000 17,000 0
2 s5=44l 17,000 17,000 0
Ox0tsZ 243t At 17,000
307 @I2to| & 57,637 62,930 N5,293
02 QB HANEE R 57,637 62,930 25,293
©2025 F=SNAHOIS! '2/HE 11,000
Oo0i==H HOISZ! L= 50tE 3. 5,000
OHOIEL 4E3H 'OIEZ2(Art-i%) 8,000
OO0t 24!, HOISZ 222 AHel 16,637
OX0t=Z 'GiveUsed SO 2025 5,000
OdF H0tE HAEH "F(Do)=8
OFSIHAH 6.000
OX0ts &S d=d 6,000
S8 28 F4A4H QM JH&d A 131,000 131,000
401 A& HIX R0 131,000 131,000
01 A28l 131,000 131,000
28 2 HEorM
o 131,000
FHREMNA 219,000 0 219,000
= 219,000
FAEE A 219,000 0 219,000
= 219,000
SEEH S d2HEA 219,000 0 219,000
= 219,000
401 AlEHIZL SO 219,000 0 219,000
= 219,000
01 A28l 219,000 0 219,000
ofl¥3EH s & Ar&d 219,000
= 219,000
HH2LZHI(ZAIEHID) 52,639 53,806 A1,167




2A:

X XH -
o=

S AIZEHI
HHY 2L G (SAIZE| L)

SoT oo

o2l JI=2FHI(SAIEHID (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
J1=22HI(SAIEYI 52,639 53,806 AT,167
Jl22HI(Z=AIEHI D 52,639 53,806 AT,167
201 er23| 29,160 31,126 21,966
01 At2teltl 29,160 31,126 1,966
Odgt+==H| 15,552
©=E ] 13,608
202 04| 19,699 18,480 1,219
01 =LHOHI 19,699 18,480 1,219
OJ|=dRFA0H| 19,699
203 HR=&H] 3,780 4,200 A420
M EA2ER=AH 3,780 4,200 2420
OR NN
315,000 * 122 3,780




